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11.1.21 Can I subtract? (Not crossing 10) 

There were 8 apples on a plate, but Jane ate 6 of them.



First there were _________ apples.

Then _________ were eaten.

Now there are _______ apples.
___-___=

There were 12 apples on a plate, but Sophie ate 5 of them.




First there were _________ apples.

Then _________ were eaten.

Now there are _______ apples.

___-___=

There were 28 apples on a plate, but Ryan ate 6 of them.





First there were _________ apples.

Then _________ were eaten.

Now there are _______ apples.

____-____=
There were 19 plants growing in the classroom. 8 of them were moved outside.



First there were _________ plants.

Then _________ went outside.

Now there are _______ plants.

